1 The area of the India under plateau region is aboyt

WId § werd & w ¥ -
&) 56% (B) 27%

() 43% (D) 30%

2 wondes e ¥ -
(A) T&T (B) femmn
() && (D) s&T

3 How many districts of Rajasthan were affected by
famine during 2021-227
2021-22 ¥ T % fa Ry HET § T g 7
(A) 11 B) 12
©) 9 (D) 10

4  Different types of chemical reactions are

(1) chemical combination
(i1) decomposition
(iii) displacement
(iv) double decomposition
To which category do the following reactions
belong?
(a) iron + steam —» iron oxide + hydrogen
(b) sodium chloride + silver nitrate —>
sodium nitrate + silver chloride
Tt wer @ TEahe sfifear ¥
(i) TEEtE g
(i) e
(i) Teaeamg=
(iv) fe—smgues
Prfafaa sfvfeard fea Soft & sicefa ot 87
(a) A + AT — G HFEES + RO
(b) wifeam Fwrge + fawR TR -
Tifegy e + Rt &S
Nd(A) (@) - (i), (b) - ()
) () — (iv), (b) - (ii)
(C) (a) — (iii), (b) — (iv)
(D) (a) - (ii), (b) — (iv)

Who was the first woman chairperson of Rajasthan
State Human Rights Commission?
(A) Lalitha Kumarmangalam

(B) None of these

(C) Kanta Bhatnagar

(D) Jayanti Patnaik
mquﬁmwmmqmﬁmmaﬁw
afzel AAa qr7

(A) @faar GHITHT

(B) =44 & #7% W1 ¢

) &I 9ZATTT

(D) Fg= Tzarga

078986 | )
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The famous tribal fair of "Beneshwar" is organized
in which district of Rajasthan?

(A) Pratapgarh (B) Dungarpur

(C) Kota (D) Banswara

it onfeardl Ao ‘Sogat’ ToRAE & fee e &
At B & 7
(A) JamTe
(C) @i

{B) W
(D) Tt

Which of the following National Parks is situated
in Madhya Pradesh?

(A) Keoladeo (B) Betla

(C) Manas (D) Bandhavgarh
Prefvfeg T SEEl § & HiEr qe wey o
g # 7
(A) Haeed
(Ch =™

(B) e
() wuaTe

Which one among the following is added to soap
. to impart antiseptic property?

(A) Rosin

(B) Bithional

(C) Sodium lauryl sulphate

(D) Sodium dodecylbenzene sulphonate

UMY Ve TN B Ja b & forw Freferad § &
foraen! |rgA o freran sar ¥ 7

tA) TR

(B) afrEFw

(C) wifsgn wif@ ache

(D) wifsaw sEEEEI~IH aehne

The value of z is
Z &l 7 B

/o

(A) 64°
(C) 20°

lMH
(B) 56°
(D) 40°

Haemoglobin found in blood contains
T W guftaq dmnenfe W rn Sar @
\Q\) Ie (B) Mg

(C) Ca (D) Na
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™M, Cost price of a watch is T 530. If the IO?S
percentage is 24%, then what is the value (in
rupees) of loss? o
w w & w g T 530 ¥ af afy e 24%
R R NS B
(A) 1142 ®) 1272
(©) 114 (D) 1122

SN2, Select the number group fram the options which
is alike with the number group (5, 25, 7).
feq T fawedl ¥ & @ wEm wyE @ wEd SN A
I EE (S, 25, N w9 A
(A) (9. 81, 10) 239 (7, 49, 13)
(C) (6, 36, 12) (D) (8, 64, 11)
13 Who among the following was not honoured in

the literature and education category of Padma
Bhushan Award, 20229

(A) Vashishth Tripathi

(B) Natrajan Chandrasekaran

(C) Pratibha Ray

(D) Swami Sachidanand

i ¥ ¥ B v o qrew, 2022 %
T e & & ¥ qoepa w9 g ¥

(A) =R B

(B) TeUSH w90

(C) wfewm ¥

(D) @m giesm=

qife

14 World's largest riverine island 'Majuli' is located
in which river?

(A) Amazon (B) Godavari

(C) Brahmaputra (D) Indus

fog &1 g9 31 789 A9 A fhe T@ §
Fared 2 7
(A)

NC) s

(B) wemEd
(D) Ty

15 Consider the following information ‘
"when' means '<', 'you' means '+, 'come' means
' and 'will' means '+, then find the value of
"8 when 12 will 16 you 2 come 18".
Frefefaa Sl 9T sm i
"when" &1 &1d ¥ 'x', 'you' @ &1 ¥ '+, ‘come' &
Ad ¥~ qar 'will' &1 &1 &'+, @ " 8 when 12 will
16 you 2 come 18" &1 & T BIfg|
(A) 94 (B) 98
(C) 82 D) 86

™

16 When tota| internal reflection occurs?
(A) The angle of refraction is greater than 90°
(B) The angle of incidence is equal to 90°
(C) The angle of incidence is greater than 90°

(D) The angle of incidence is greater than the
angle of refraction

T i T w7 e k7

(A) omedq @i 90° @ aiftres 3
\@) Y @ror 90° % qET &

(C) omyas wior 90° ¥ arftrs &

(D) e @ swadw B & ot T

17 'Rezang La' war memorial is situated in -

(A) Sikkim

(B) Arunachal Pradesh

(C) Ladakh

(D) Nagaland

T gy e Red ¥ -

(A) Taferm &

(B) srevmaw wagr #

e |

(,E{amﬁvg L

In which of the civilisation were bricks not used

in making the houses and colonies?

(A) Ganeshwar (B) Bairath

(C) Kalibangan (D) Ahar

forg gvaaT o "ab Ud aftat oW H €2 @ v e

B a1 ?
(B) &w® ‘»e}w (
(D) smEs

MogET
EARIERI

19 Scouts and Guides National Jamboree, 2023 was
hosted by which city?
(A) Pali (B) Udaipur
(C) Jaipur (D) Jodhpur
TN WS TE MEs T, 2023 & Asia fha g1t
UG
(7)) et

(C) g

(B) Seagt
(D) wiregr

20 In an ecosystem dominated by trees, the pyramid

of numbers is type.
(A) inverted (B) upright

(C)" horizontal (D) tilted

T8 T WIS & e &t s THT &
B ¥

(A) e By e

(C) &few (D) g

D78986 | < )
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21

Most cOmmMON nutritional deficiency disease
observed among adolescent girls in India jg —
(A) Beriberi (B) Anaemia

(€) Seurvy (D) Pellagra

i ¥ Rl & @ oma 3 oy

B b itﬁwwzﬁ
(A) T (B) T (-
©) = D) ¥ ()

)

@ Complete the following sentence by choosing the

23

24

correct tense form from the given opﬁéﬁs :
He gave the picture to me because he

me.
(B has trust (B) will trusted,
(C) trusted (D) trusting -

(N
Which is not a main component of the,soil?
(A) Salts (B) Water “} {
(C) Minerals (D) Humus '
R g4 & gEd e Tl & i
(A) e (B) s

W) 7™

(C) @+ ,
Sudha Singh, (Olympic player) who lannounced
retirement recently, is associated with which sport?
(A) Athletics (B) Hockey

(C) Badminton (D) Cricket )

T e, (siahs fawr)) R o & 5 Fram @
dw e AW A G W E L

$2

A) uHwiteE (B) ®a
(C) s=firA (D) fpepe
L)
25 Where is first gas thermal power planf located in

26

Rajasthan? (N

(A) Kota (B) Balotara (v
(C) Anta (D) Ramgarh (/)
(A) & (B) s ()
(C) e {p) TR

How much outlay has been allocated in Budget of
Rajasthan 2022-23 for Rajasthan water sector
restructuring project for desert area? "

(A) T 600 crore (B) ¥ 800 crore

(C) T 300 crore (D) T 500 crotei’
TN & a7 202223 § g5 & § TAHYEA o
g TaAr af A % fan fpgen uftaa sitdtea faa
%7

(A) T 600 F1g
(C) T 300 &g

~NB) % 800 w1
(D) T 500 &3

78986 | )
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Who was the author of Rao-Jetsi-Ro Chhand?
(A) Kavi Ratanu Charan

(B) Jodhraj ‘

© Vithu Sujo

(D) Girdhar Asian

-0 B B qE@H B A7

(A) ®f WY T

The number and appearance of chromosomes in
the nucleus of a eukaryotic cell is called

(A) Karyotype  (B) Neotype -

(C) Nucleotype (D) Xylotype

w gHiw B ¥ TR @ e T i

Al & |
(A) ToTEITEY (B) Taw&q
(C) Hhsbyed (D) SEeEd

Read the following short story and answer the
question that follows :

There were once two brothers who lived on
the edge of arfg%st. The eldér brother was very
mean to his younger brother and ate up all the
food and took all his good clothes. One day, the
elder brother went into the forest to find some
firewood to sell in the market. As he went around
chopping the branches of a tree after tree, he came
upon a magical tree. The tree said to him, 'Oh
kind sir, please do not cut my branches. If you
spare me, [ will give you my_golden apples'. The
elder brother agreed but was disappointed with
the number of apples the tree gave him. Greed
overcame him, and he threatened to cut the entire
trunk if the tree didn't give him more apples. The
magical tree instead showered upon the elder
brother hundreds upon hundreds of tiny needles.
The elder brother lay on the ground crying in pain
as the sun began to lower down the horizon.

The younger brother grew worried and went
in search of his elder brother. He found him with
hundreds of needles on his skin. He rushed to his
brother and removed each needle with painstaking
love. After he finished, the elder brother apologized
for treating him badly and promised to be better.
The tree saw the change in the elder brother's heart
and gave them all the golden apples they could

tever need.

Q. The above story teaches you to be :
(A) covetous
(B) kind and gracious
L) great and ambitious
(D) disciplined

| Contd...



ased by 25%. What

30 The price of sugar is incre
) . be decreased SO that

percent of consumption is to .
there would be no increase in the expenditure:

drd i e & 25% ) g @ o ¥ @ A f
sfied B w9 B i ad § B g T

2 1
(A) 163% (B) 335%

O 20%

31 Choose the most appropriate translation of the
“X given sentence into English :

$9a¥ gagRRmE R

(A) God is omnibenevolence.

(B) God is omnicompetent.

(C) God is omnipresence.

(D) God is omnipotent.

(D) 25% N

®

N

36 If the following words are arranged in alphabetical

order, which word will come at last?

s Frfefen st @1 anfamgar aafea fran @
@ B yr= anfiadt A o ?

Drank, Dl’ak'e\,\Draper, Drastic, Drama

YA) Drastic (B) Drama

(C) " Drank (D) Draper

\3{ Anuprati Scheme of Rajasthan government provide

financial aid to the people of Scheduled Caste and

Scheduled Tribes

(A) for preparation of competitive exam

(B) for construction of house

(C)*for marriage

(D) for business

TS G @ argufa drr arggfad ae o
| ogfu et & @ & faia gewEar war

EZCIN

(A)-wfmrr qenel @ Jard & ford

(B) &% ¥ & fed

(C)_faame % ford

(D)-7mR & fd

First computer was installed in India at : ‘
(A) Indian Statistical Institute, Kolkata
(B) JIndian Institute of Science, Bengaluru
(G). Institute of Social Science, Agra
(])k)'v~>lndian Institute of Statistics, Delhi
WA TE ST I g e

)T Qi §Ed, el o

wrdr feme de, Sge o
) wm fa weE, s ¥
(g S o e, R &

39 Wlu\cih fact is not related with the Sambal Gram
Scheme?
(A)‘_ Selection of villages with more than 40%
“SC population
(B) “Funds are allocated to Gram Panchayats
(C)Y-Maximum ¥ 5.00 lakh for one village in
one year
(D)~ Work for development of infrastructure
pidfacilities
i Ao Hew T A ¥ gty 98 7
(Ad-40% ¥ arfercs Srgfem wfty ot Strefean et il
vs Ak
(B) e a1 e e
% 99 U i % fag sifea T 5.00 @@
Q) smerorT glaenskt & frara & ad

32 Two cubes each of volume 27 ¢cm? are joined end
to end. What is the surface area of resulting
cuboid?

(A) 45 cm? (B) 60 cm?

(C) 90 cm? (D) 81 cm?

T e, Y yde & emEaw 27 om? ¥, % gaw
Heich] bl T Teh o1F SFIT a1 & | 399 S99 ardl
T B TG &T%E 1§ 7

(A) 45 @it gy (B) 60 =t &y

(C) 90 =t & (D) 81 =it &y

33 The condition in which image is formed behind

retina is called :

(A) Presbyopia (B) Astigmatism

(C) Farsightedness (D) Nearsightedness

forg fafy % I & 9% wfafeie SaT &, 9@ Fed B
(A) v A9 (B) ghedwa A

© gafzdw Q) Fre g aW

34 For how many days can blood be stored for
transfusion? '
(A) 45-60 Days (B) upto 3 months
(C) 10-20 Days (D) 35-45 Days
TR % Ru Tad @) e R de @ated fRdT ST
eI
(Ay 4560 o & (B) A AfeR @

(C) 1020 fsm @& (D) 35-45 &1 @@

35 The number of sex chromosome in human is :
qrEay § feas fom qorgs R 9@ E 7
(A) 3 (B) 4
©) 1 v(D) 2

D78986 | )
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40

@Which one of the following is an antonym of

(A) Denial
) Concession

42

NC) et

43

(14

D7

Consider the following statements for Inter-stae

Council :

I The inter-state council is set up under

Article 263,

[he Chief Ministers of all the states

member.

It was set up on the recommendation of

Rajmannar Commission.

4. It is a permanent constitutional body.

Choose the correct code.

(A) 3.4 B) 1.4

(C) 1.2.3.4 (D) 1.2

AT aiwg & wf § frfaiag sy & W :

L. ;@Wﬁm@m%mﬁ
|

A T % qerEst Ied gew ¥

are its

‘sl

"Admission'?
(B) Caution
(D) Allowance

_ feature create a mirror image of the selected
object in PowerPoint presentation.

(A) Sliding (B) Rotating

(C) Mirroring (D) Flipping

TET UEZ USRI W HrAY g §U aifeeiae B

Ja

(A) =T dB) Tt

(D) Tt

Which of the following is an application software?
(A) AutoCAD (B) Android

(C) Windows NT (D) Ubantu

79 B BF A Vg Uidby ATREdl B

(A) "f’fiﬁﬁﬂb/&‘w, (B) U3ige X

(C) fagramaar - (D) %a%

NT

be names of how many regional languages are

found in the Katha Sangraha of Kuvalayamala?
FAATAAT A% 7 Ty g A 2o e & A

#1 5,;.;_"1 ,’:'ﬁ,' 77 "
\.w,) 18:}

(A) 17
€ ) 16

) 15
29%6 1 )

6

45 'Mukhyamantri Digital Seva Yojana, 2022' is about-

(A) Free mobile phones for women

(B) Free computer courses for weaker sections
©) Establishment of new E-mitras

(D) Free online coaching

e fefren &ar g, 2022 @ ww ¥ -

S¢A) wfewmet & g Mg deed oF @

46

47

49

(B) Wﬁ%@ﬁ:gﬁwaﬁﬂ‘aéo\
(C) 7T - @il & @
D) e AT BT @

How many teachers from Rajasthan were awarded
with National Awards for Teachers, 2022?
TeTeT & e Rrerant a1 g e g, 2022'
¥ gt R ?
(A) 3

© 1

(B) 4

Q) 2

Who among the following does endorsement on
the Money Bill while transmitting a copy of the
bill to Rajya Sabha as passed by the Lok Sabha.
(A) Speaker of Lok Sabha

(B) Minister of Parliamentary Affairs

(C) Minister of Finance

(D) Secretary General of Lok Sabha

frifeed & ¥ B e g wia a7 fadas B 1
id TEEH H W T, JRoifhd wlar & 7

(A AHaT BT e

(B) @& & w3

(C) st

(D) WIwa &1 Herarag

Which Article of the Indian Constitution makes
provision for a special address by the Governor of
a state?

(A) Article 176 (B) Article 166

(C) Article 174 (D) Article 175

T & fagrw sfoe @1 graas wda gt
% e orgebe ¥ fran T 37

(A) sgese 176 (B) =< 166

X€) o 174 ) T 175

Normal Haemoglobin level for pregnant woman
is—
(A) 12 g/dl (B) 13 g/dl
(C) 10 g/dl (D) 11 g/dl
THadr wfew § g S w@wod
(A) 12 m/Adwe  (B) 13 /3t
(C) 10 mAddeT (D) 11 7138t
| Contd...
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50 Whog
n anaslhan‘.‘
(A) Rani Bhimalde
(C) Rani Ramrasde

(B) Umade Bhatiyani
(D) Rani Rupalde

ot the Trimukh Baori built at Tebari village | 55 _
| hich button is used to create a multi column

document?
(A) Column
(C) Break Column

(B) Set Column
(D) Multi Column

nawﬁémwﬁ'ﬁg@mwmm‘ Lo U8
FA1 7 | ;w;rh ;"ﬁqglﬂﬁ?m%mmmwmm
?
(A) T e (R) SR wizard W = :
N T (D) T wR s ) we Fi
(C) % Hiem (D) HwE HiH
51 'Loo'is 56 i
(A) local hot air in summer 6 'Kishangarh' school is famous for
(B) industry | (A) Martial Art (B) Sculpture
(C) vegetation | (C) Temple Art (D) Painting
(D) mineral foere gt ¥ forg ofrg &)
qE- (A) msfe are (B\\t{f%fw
oAy TR e e (O w ~(D) fee
(B) wEm |
(C) aaiq 57 After input. storage, process and output, which is
(D) &= the fifth operation performed by any computer
system?
52 A person spends average ¥ 1800 per month in (A) debug (B) mpmtor
first 4 months. In next 8 months he spends average © cox;tﬁrol (D) display .
T 2000 per month. In the end of the year he saves e ’ W mv S &
5 - : . Rpar ST e G ST B 6 E 7
T 5600. then his monthly income is — ﬁ) - N
TE e guW 4 " ¥ siwad 31800 wiewe @ (C . (g)%ﬁ
A B qE AT 8 WE ¥ afvEa T 2000 wfere @d © ®)
F7 3199 % 3 | g€ T 5600 2 T &, g sEd ,
e E émg'?l,, 58 Profufad & @ @ o= § B @ w7
(A) T 2600 (B) ¥ 2800 | _gé)) " Eg)) l
(C) %2200 )Z 2400 | = A
K 59 H b t of Constituent
53 Which of the following statements is not ow many members were part of Lonstiuen
i\\ about Block printing of Rajasthgns? o ot o ! Assemp ly of India in 194.6 fromﬁRaijfasthan‘.?ﬁ 3
(A) The process of it flourished since 12th century. | 1946 ¥ o ?\L“I@ o1 Gfqur T F9 ¥
(B) Natural colours are not used in it. \ 3 a7
(C) It is an ancient craft form of Rajasthan. | (A9 (B) 7
(D) It is done on cotton fabrics. (O 11 (D) 10
fa & B AN FUA T B EE O 6 A
ad T8 £ 7 60 Which function key is used to edit the cell contents
(A) 7w A gEAE 1241 w4 W g A of a sheet? - ‘
ey w;rmmmmma’?mmzl itz & A héz B Ufee FTH % f B W HR B
> a7 T F v% qEE {6 w9 g AR
(D) 77 =d Fz 77 fa A 2 | (?) F3 (B) F4
e D Q) P2
54 The Pratihars occupicd the principality of mamalﬁ‘ ]
by defeating - 1 Which of the following is the traditional handicraft
(A) Cuhilots (B) Bhatis of, Jaipur?
(C) Chaghans (D) (‘l]:!w?dzjs _ (A) Paintings (B) Blue Pottery
_w &7 giderdl 4 Q9 & T4 (C) Woollen Khaadi (D) Theva Art
77 g grE faan fr= & @ SAqU &1 oy J3EN BEET €7
(A Tzt ) wrm \feseet & qre '
(C) “rerf Q) T \ (C) > ¥ @rd O e e
78986 | ) % 7
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§ Choose the correct alternative for translation of
the following technical term -

'subscriber’

(A) ST W) @

(Q Jaag (D) vas
63 Which of the following is not a feature of a notice?

<& Agenda
(B) Minutes
(C) Signature by authority

(D) Time\\dale a"ij\‘ﬂfﬁe

64 The poputat annual fair at Kolu (Phalodi) is
dedicated to, which of the following 2
(A) Gogaji (B) Ramdevji
(C) Deviji . (D) Pabuji
freffiad 38 fFe Y (B & T9E affe e

Tt & 7
(A) TSI (B) Tmeasit
(C) Zaeii~r — qrgst
e 'Authentication’ &€ &1 &=l gurde 9 & -
(A) & ™M (B) wHTOieHT
(C) wmivR ~B) It

66 Choose thie Correct one word substitution from the
given optians :
A person who is uncivilized.
(4A) Barbarian (B) Barbican

(C) Barber (D) Barbadian
~67  Choose the Correct preposition to fill in the blank
space. N

1 must apotogise being late, my car
broke dows:

(A) 10 (B) for

(C) with, -, (l_)_bupon
68 Under which circumstances will an antigen —

antibody reaction occur?

(A) A person with type A blood group is
given type O

(B) A person with type O blood group is
givemtype A

(C) A person with type AB blood group is
given type A

(D) A person with type AB blood group is

~ uivenrtype B

7% Gata g gfaw - wlavdn wiatma w e

™~y "% i (e Tad 99 A § 38 O &g

% fe am o

By 7% e Frmam g O % 98 A
77 fen wm

(C) 7% 2% fram) 147 wqz AB % 90 A T
agz tzay wm

(D) 7% 2fF frmm = ags AB % 30 B 74
rgz e wm '

D78986 | < )

e is factory of Ashok Leyland located

Wher
in Rajasthan?
(A) Jaipur (B) Alwar
(D) Kota

(C) Jodhpur .
ot e W oA el Red # 7
4) TR %B) e
(5\) AYYL «p) @

Who was the Governor of Rajasthan, when the
President's rule was first time promulgated in
the state?
(A) Sardar Jogendra Singh
(B) Shri Sampoornanand
(C) Sardar Gurmukh Nihaal Singh
(D) Sardar Hukum Singh
9 STy ¥ gEel 9T TSy e T, aE
T @ &7
A TR S fE
«B) o duiie
—(C) ¥CR @ e fHe
() ¥GER ggw fiE

70

71 'Prachanda', which was recently inducted isa .
(A) helicopter

(B) fighter plane

(C) air to land missile

(D) land to air missile

que’ g wd & o onfve fewr mr ar, we . %)
(A) TEBIET

[T B) g fmE

) T @ TN W AR S are e
M) o & e & R & T e

In the famous couplet for famine, which district of
Rajasthan indicated as 'Pag Pungal'?

(A) Ganganagar (B) Bikaner

(C) Jodhpur (D) Nagaur

HTd & Y TRg e H W QI % AW Y et
% By o & o Waha fmar man ¥ 7

(A) T TONE) e

(C) gt (D) AT

72

@.s, e o & Freatad ¥ 4 T frar a2

W) T AE A AfUST % uT & AW
(B) wfrdyr - wad
(C) wad

8

— (D) dauT - wEygmEt

[ Contd...



74 Who is Chairman of Sixth State Finance

Commission of Rajasthan?
(A) Ashok Lahoti
(B) B D Kalla
(C) Pradyuman Singh
(D) Jyoti Kiran
T ¥ B T faw o & orewy & & 7
[A) & AR

B) @ 2 B
(@ v fiE
(D) wafa fam

The locus of the mid-points of the radii of length
10 cm of a circle is —

(A) a concentric circle of radius 5 ¢cm

(B) diameter of the circle

(C) a circle of radius 15 cm

(D) a circle of radius 10 cm

10 &4 der @ Brew o e ga @ Bl &
wea-fagall a1 gt -

(A) 58+ B &1 & g6 99

(B) 3°@ &1 @™

(C) 15 9.8 B &1 @& 9

(D) 10 &4 a1 &1 @& ga

-2
‘I

'DPT stands for

(A) Dots pixel Inch

(B) Diagrams Per Inch

(C) Dots Per Inch

(D) Digits Per Unit

“graraE” ¥

(A) =ieq fuada 9

(B) (3fa u ami@) sEum= Wid §9

(S 2TzE Hid 39
(D) (ﬁww)%ﬁwuﬁqﬁz

76

The word ecosystem was coined by

(A) Clement (B) A. G. Tansley
(C) Odum (D) R. Mishra
s uiifatad o &1 gaygw faan @

~B) © W T

(A) T
(C) #rem (D) @, fagn

77

( 1 )
If Y3 =1.732 then | V14 —;m“ﬁ?}
equals to

/
Ufeﬁ:m}za‘rw/l—‘r—lm*ﬁjm%

(B) 0.866

78

(A) 1.732

79

80

81

82

83

84

“() 3.464

(C) 5.196

78986 | ) 9

grlttapam and Meenakshlpuram villages are
iodiversity heritage sites of -

(A) Kerala (B) Tamil Nadu

(C) Andhra Pradesh (D) Kamataka

S eradt qen fefigey wia 2 s Rt aE

—__®%

A Fw L0) () afrerg
(©) oy wwr- (D) @i
Who founde!d\tlhe Hadauti Seva Sangh?
(A) Bhoop ‘Singh

(B) Bhogilal(Pandya

(C) Manikayalal Verma

(D) Nayanurgm Sharma

TS dar gy @) g e B 7
(Axq qu e
(B) qisar
rr&rmuam a

\@

AABC APéR 1f their areas be respectively
25 cm? and 36 cm2. If AB = 2.5 cm then PQ is

(‘\)36cm(' (B) 2cm
(C) 3.0cm (D) 3.5cm

A ABC ~ A POR dft % &me waer: 25 T
aﬁx36@rﬁ23}|u&AB 258 EAa@POR (-

™ “6?{151 (B) 2 & e
(©) 3.0 (D) 3.5 & o

If the equat;ic;)ﬁ (1 +t2)x2 +2tcx + (cz —az) =0
has equal rbo,t§ then which of the following is

true? Ne)
T g (1+t )x +2tcx+(c —a) 0 %7«
aar ¥ o Piefafed § @ &9 @ g9 §7

@ @=d(i+7) ® 2-2(1+a)
€) d*=c (J+t) (D) tz=a2(1+c2)

Choose they‘c‘drrect passive form of the given
sentence :

Close the door !

(A) Let the_door be close.

(B) Let us rclose the door.

© Let the d or be closed.

(D) You sho d close the door.

‘Chhellow Sh yv is a film.
(A) Marathi , (B) Bengali
(C) Malyali _Af (D) Gujarati
Tt o wE few d

(A) wuer (B) e
(C) W P TETd
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85 What does the term 'NITI' A

ayog stands for9
() National Institute for Talent India
(B) National Institution for Transtorn
(C) National Institute for Technical |
(D) National Institution for Trans
i s @ g A ¥

(A) Aa IR B 3w RapA
(B) A9l SR Bix grEwiehin i
) A SR Wik e 3y
(D) A9a IR Wit D ey

90

Ning India
ndia
parency India

91

Change the following sentence into indirect
‘We wish we didn't hav
children. '

speech:
¢ to take exams', sajq the

(A) ‘The children said they wish they do not had
to take exams.

(B) The children said that they wished they didn't
have to take exams.

(C) The children said they wish they didn't have
to take exams. )

) The children said they wished they do not
have to take exams.

92
93

87 Temporary hardness in water may be due to
(A) Calcium chloride

(B) Sodium sulphate

(C) Sodium bicarbonate

(D) Magnesium bicarbonate
T AT HIT B B T
(A) Hivgram aeinrgs ‘

(B) ®ifzaw avhz

Q) @ifszm aEaEte

(D) Ffsam aEaEte

94

Which Sanctuary is established for the conservation
of "Alligator" in the Rajasthan state?
(A) Chambal Sanctuary
(13) Mukundra Hills Sanctuary
(C) Jaisamand Sanctuary
(1)) Nahargarh Sanctuary
RERIGIIE A r L BT G O S e S R
7o vt T A % |

ST
A M4l

w) U A9gg
ERETANE A Eo I O e 6,
(4 7309 yayrivy
) _Citrnc AEHTTIg
90 ""{i (Ttrer 0%

Mg w) yawe w a9 R
(B) =rd
(D) &=

p789%6 | ) 10

Which of the following is NOT an open source
Q ¢ -;‘?

le}w\;ZI'd Press (B) L.ibre Office

(C) Adobe I’holoslwp‘([)) ‘Fll‘efox N
ﬁmﬁ'éaﬁﬁm@mmﬂaﬁwmqﬁgf
(A) = 98 (B) fora wiifew

(C) weE wRs (D) W

According to Crick, genetic information flows out

of nucleus in a path.

(A) two way (B) il?verse

(C) one way (D) circular

fipt o AETL, AEIH GaATU bach ¥ qTET B iR
YATE & UEd B 8

(A) T& udm

(B) wfae™
(C) us wig (D) T
MU § BHE gu ¥ 7
(A) BT (B qegey

(C) wgsife (D) g

Find the missing number in the following series :
frfafaa 9o & qa den s @it
6, 10, 18, 34, 66, ?
(A) 130 (B) 132
(C) 98 (D) 128

Magnification produced by a concave lens is
always

(A) less than 1

(B) more than 1 or less than |

(C) more than |

(D) equal to 1

Fde WF BN SO e wiq g ¥
(A) 18 ®q

(B) | &= an | & &y

(C) 1 & =

(D) 1 & guEt

The value of 2.34 is
234 % qH
211

211

(A) 9_0 (B) 9—9
234 234
(C) 90 (D) T‘)-

First man made satellite sent 1o the space in year
1957 1s

(A) Aryabhatta-1 (B) IRS-1
(C) Sputnik-l (D) Rohini-1

aq 1957 o arafie o W T ueen wivg fffa
YE T

(A) @dvwee-|

@R) A, . ug-|
(C) wyafa-1

m Afevii-|
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97 Baba Amte Divyang University will be establisheq ‘ 105 oy
. I me Many new industria| areas had been
(A) Jodhpur (B) Kota MQF‘:’)Sed 10 set vp in Rajasthan according to
(C) Jaipur (D) Alwar ) E policy 20220
a1 e @ fysafaem @ e .4 . mqﬁ?ﬁ-ﬁgaqwqwm:ﬁ%,mm%
- gﬂﬁﬁﬁwﬁﬂﬁﬁmmwﬁammmm
g T a7 ?
O v ) o o) 14 (B) 138
, (D) srwat (€) 147 (D) 150
K\
2 -1 s PM-SHR Yojana is about the upgradation and
98 If secO+tand =x, then —— s _ development of which one of the following?
X7 +1 ) Universities (B) Orphanage
, ) Hospitals (D) Schools
HﬁSeC9+tan9=x,a}'\2—l%J?t W‘@fﬁwmﬁwﬁwﬁ«ﬁﬁﬁ&ﬁmmm
x“+1 (3"qqﬁmmmm%?
A) fayafeemea
(A) cosO ~®) sing (c)) fay (g; ST
(C) secB (D) tan@ | O =T
107 Which pl f Raj i ' i?
place of Rajasthan is related to Kapil Muni?
9 I8 I T T - (A) Kolayat (B) Sambhar
W Sl (B) dftan (C) Jodhpur (D) Nagaur
(C) Brgard (D) gz T & B9 91 W Biud g & gehg £7
r ;
- Q) o (B) wit
100 ‘o’ o= @ wer wfu-fode g - L (0) Wy (D) it |
(A) 9 + o1& (B) st + am J |
) M+ 3% (D) st + ams 108 In the following series how many symbol of @
. ‘ are there which is immediately preceded by the
101 ‘& g W & E o T - iy;nbol # and immediately followed by the symbol
) o L (B) ¥R g 3 41 A ¥ % ey @ Foree 3 e S T

) diET 3 9T g (Ig% Y WEHM|

102 The median of first 10 prime numbers is —
woq 10 ¥y gl s aiger & -
(A) 13 B) 12
W 11 (D) 14

103 What is a digital circuit made up of?
(A) CMOS (B) semi-conductor
(C) logic gate (D) diode
fefza afhe fom Y a7 ¥ 7
(A) dmrg ) H-HEdRT
(C) vt e (D) swrE

104, Fob spherical mirrors of small aperture, the relation

between radius of curvature (R) and its focal
length (f) is :

9 2w % T g % for, @t B (R) 9T
WA gir (f) % 4 w6h ¥

(A) R =12 (B) R=f

(C) R=2f (D) R =3f

78986 | < )

. Tae #aw 8% W H fam + %7
S@#+@H=*@% #@+ €T H@+ <+
@E@+$%=
(A) 6

(B)

;
(D) 5

109 The value of \/913099+ V700569 is

913099 + /700369 @1 7 % -

(A) 966 B) 976
(C) 946 (D) 956

0 In which of the following city World Forestry
Arboretum is situated?

(A) Udaipur (B) Pratapgarh

(C) Jaipur (D) Jodhpur
fFrfefed & & fow e & fagg ab s
R %7

) SER (B) wamme

(C) wEgR (D) SR

11 [ Contd...




111 A boy's present age is one third of his mother's
age. It the preseat age of his mother is v years,
after 15 years the boy's age will be —

U S BN TN Y S et @) oy A v frerd
¥R W @ TR oy v AR 15 o yyarg wed

N g Bl . \
. N
(A) x +3 (B) =~I5
q
x+15 X
™ (D) §H1S

112 Mukhyamantri Nishulk Janch Y(:)jana was launched
trom .
gegEs! e e a9 &) § dra fean
Tqr 4nl o
&) 2015 (B) 2016
(€) 2011 (D) 2013

Which of the following cul[ure; is also called as
'‘Banas Culture'? "

(A) Rand culture (B) fﬁéirath culture

(C) Ahar culture (D) Drishduati culture
R & @ fow waht A0 TG D Bw
A R? r"‘

(A) T= Tl (By ¥te wph

(©) o v W) g v

114 Choose the appropriate deterkniner to complete the
sentence.

There were people on the beach, so
we weren't completely along,_

(B) wery little
(D) fewer

(A) fewest T~

~) a few

115 Badli Industrial Area will be'éstablished in which
of the following district?

(A) Alwar (B) Jodhpur |
(D) laipur y
zeh) S e &) v FETAER A @

(C) Ajmer

(A) A=AGT (B) sugr

|
(Cy w97 (D) Fa77 ‘|

78986 | )

116 Who among the following has won the Nobel Prize

for Medicine 20227
(A) Svante Paabo ‘
(B) Emil Von Bchn‘ng
(C) Adem Patapoutian
(D) David Julius

ppeftad ® @ frea fafthen & &1 & AEw JUHN
2022 S ?
NA) @ T

(B) i &R
(C) T
(D) 3f&s

17 'Periyar Tiger Reserve' is located in which state
of India ?
(A) Tamil Nadu (B) Karnataka
(C) Kerala (D) Gujarat
‘Wmﬁa@m%ﬁmmﬁm% ?
(A) e (B) ®ATH

®) F@ (D) T

118 Which of the following is the popular folk dance
among the Bhils?
(A) Gavari dance (B) Dhol dance
(C) Geendar dance (D) Chang dance
Preffiaa & & avrer @ @ e ¥ A ¥ 7

(A) Tl I (B) ¥ J&
(C) ties 7@ (D) °@7
119 Which of the following Folk God's mother was

Mainade?

(A) Ramdevji (B) Gogaji

(C) Mallinathji (D) Pabuji

frfifad & @ 9 ¥ Tddaar # wwr Aug 8 ?
TAY TwEas (B) Tt

(C) e (D) wrgsh

120 Which of the following is the apex organisation
engaged in fostering growth of industrialisation
in Rajasthan?

(A) RAIJSICO

(B) NABARD

(C) Rajasthan Finance Corporation

(D) RIICO

et & & A g TorE & sl faeg @
i 3 aren o wen g ?
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121 Chilika Lake is situated to the south of the delt
of the river - 41126 ‘Trwa W e Y Yaifeg wo § @ETH -
(A) Kaveri (B) Mahanadi (A) govaras s
(C) Godavari (D) Krishna ©) ﬁ‘l?ﬂﬂiﬂﬂiﬁ (D) Prerarad
ﬁﬁmmmaﬁ%%m%mrﬁwh 127 .
(A) FRa Ng) T 'C"ld'a is ranked _____ out of 63 in the Climate
() et (D) Fom (A:)ané? Ee}:ermance Index (CCPI), 2023.
, o ightt") (B) Ninth
122 i\:;n; 1oafh t:eL Ki:‘ti‘d\-me mill setup in Rajasthan is (€) Sixth ¢ (D) Seventh
o Kith M’l ill (B) Sardul Mill ey ufiqds; yae gawid (drdrdang) 2023
hna Mill (D) Edward Mill W 63 ¥ & ?
3 st i) e T R
“:"*“" U T e foe &1 A E (A) e (B)
(A) wEe fre (B) wiw firt ©) s . (D) FTad
,\&Wﬁﬁ N e P
5 T 128 A diagonal'of a rhombus is 12 cm. If its area is
a5 D B:C=4:5C:D=6:7then 30 ¢cm? then"the length of each side of the
:B:C:Dis rhombus is’
.~ TaR A:B=2:3,B:C=4:5C:D=6:77 - &
A:B:C:D hé (A) 2= cm- (B) 5cm
T 16:24115:35 0 2
By 16:22:15:35 7 o 62
(C) 16:22:30:35 L~ © o7 em (D) 15 cm
(D) 16 :24:30:35 @W@ﬁ?w@mﬂlzﬁ%m&mm
' 30%2%@@@%&@%@@@6%—
124 From which part of the mustard plant <Brassica> 1 —
oil is extracted? (A) 2= & (B) 5 & (sfteo //
(A) Ovary (B) Seeds 2 0 fa
(C) Whole plant (D) Flower 1 e i
et I <SR % o WA @ AT aw R © 63 &, (D) 13 &
a7 |
(A) ST ~B) I / @Aceording to the India State of Forest Report 2019,
(C) ot ured (D) g™ highest percentage increase in forest cover with
reference tq-the year 2017 is recorded in the state
125 The four problem figures have certain common (Not UnionTgrritory ) '
features. Select a figure from amongst the answer (A) Assam. - (B) Kerala
figures which possesses the same feature. ©) Kama@il!g? (D) Andhra Pradesh
Wusam%ﬁr@gﬂ%mﬂmil ﬁzméz‘wmﬁeﬁﬂézowﬁsmaﬁzm?
iy ‘ﬁ'égé‘tgwarﬁrqai@faww ﬁgwnﬁj: T (b onfed wRe e o
o i“yfl 7 o &% ¥ Wit gried ghe oot g ¢
Problem Figures / 957 agferal (A) o&q (B) &
(C) @iea| ) (D) Y W&
!
A @ B @ 130 Who admiqistgrs oath to the Speaker Protem?
(A) Senloir)mpst member of state legislative
Answer Figures / 31 agfeal assemoly
£ (B) Chief Justice of High Court
(C) Chief Mihister
" @ ® | o (D) Goverhor
Wit W2 & ey B feawar @7
. (A) Ty fauran & aftsad qe.
(B) Sea =R & =ty
) @ o) | (= (€) yord S
(D) syt
13 [ Contd...
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3 hich of the following qualities of coa] s
@\,\imum produced in Rajasthan?
(B) Anthracite

(C) Peat (D) Lignite

P 4 @ @A E BEe e TR ¥ iy

Fanfed &1 S &7
Ry g

(C) dre

(A) Bituminous

(B) T3
~D) ferrgz

132 The value of tan30°sin45°sin60°sin9qe g

tan 30°sin 45°sin 60° sin90° &1 A7 ¥ —

1 2
- B) —=
A 57 ®) 2
1
© 3 )| 242

133 What was the percent of population of Rajasthan
in relation to India in the year 2011?

T ¥ 2011 § g o feeae wiaed s o ?
(A) 6.55% ®) 10.41%
(C) 5.55% ~(P) 5.66%

134 Mayank invested ¥ 8,000 in a bond at compound
interest (C.I.) compounded semi-annually.
He receives ¥ 10648 after 18 months then the rate

of interest per annum is

ww 3 8.000 U dfs ¥ Thghg WA &g forEd
Fgamie g &, Frafim & #1 a8 18 @@ 99
7 10648 W< BT & al Wi a¥ @ H W E -
(A) 20% (B) 25%

€< 15% (D) 17.5%

135 ‘T T § HieE wHE 7

n78986 1 < ) 14

136 On the reco

137

138

139

mmendation of which Commission was
the area of Mount Abu and Ajmer Merwara
included in the Rajasthan?

(A) Rajasthan United Commissi'on

(B) Vallabhbhai Patel Commission

(C) V. P. Menon Commission
(D) Rajasthan Reorganizaiton Commission

oy ATt Y R T ATV BT T ST ATt
mﬁlﬂﬂmﬁﬁ)—m?

(A) TR GYHR SR

(B) e T ST

Qaﬁ. &), ¥ e

(D) Tt gTTed s

In MS Excel Date function is used for
(A) add a number of days to a day only
(B) add a number of years, months/days
(C) current date display

(D) get time

T E UEEw ¥ 32 BaeE &1 FAn el §
(A) fak R & Rl &t e & fag

NB) @, At @ Rl @ e ¥ fg

(C) ot @ artrE f@m & g
(D) 999 9 ® & foQ

The next term of the giv‘en number series is —
& T weE g F e 98 ¥ -

V01, 0.1, 0.140.1, 0.01,2

A) 0.1J0.01
©) 0.0140.1

@) +0.01
(D) 0.0140.01

The common name of Particle Gun technology
used for DNA transfer to tissues is

(A) Shotblast Method

(B) Missile Method e

(C) Shotgun Method

(D) Shotput Method

Sl ¥ . T T W B s g i @
qEg T ¥

(A) st fafy

- (B) framw fafa

O oW fafy
(D) siege fafy
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140 Which of the following statement is not correct
regarding Panchayati Raj System?
(A) 29 subjects are there in XI Schedule.
(B) Minimum age (o contest clection of Gram
" Panchayat is 18 vears.
Rajasthan was the first state to establish
Panchayati Raj.
3rd pige e
'.s“ Constitutional amendment Wwas
implemented in 1992,
et & & 3 1 hert et Tron et % A A F9
T R?
YA) Wﬂz?ﬁ T ¥ g 29 fawg ¥
B mmﬁwm%mwww

()

(D)

Tt 1
O wENH T § targdy 1 e &
e g1 98y

N 73 @ SqEE wsites 1992 & . gl
Between wh /
@ ﬂ;ght? om was the Battle of Gagron was
(A) Mahmud Khalji-I and Raimal of Idar
(B) Mahmud Khalji-II and Maharana Sanga
(C) Mahmud Khalji-I and Kumbha
(D) Mahmud Khalji-Il and Medini Rai

TR & & fheeh Heg @1 741 7

n .
145 "Borl" ornament is worn by the women on e

(A) Legs (B) Head
- (O) Hands (D) Waist
ol grT WRer emqew W€ 9EH S 7
(A) & ~B) i
©€) =1y (D) &t

146 Outline tab in PowerPoint is used to view
(A) Both pictures and texts in slide
(B) Only blank slide

(C) Only pictures in slide

(P) Only texts in slide

Wi Uiz § asenEd 9 @ W 4
B F o ¥
(A) s % faad g dage a0
(B) ¥am w¥w wss
(C) *aw wigs fyererd
D) o s S
147 ®F-q1 9= ‘ardY @ 27
@fﬁw (D) I

148 The origin of Krishna River is near which of the

following places?

(A) Pravara (B) Mahabaleshwar

5 e PR (C) Nasik (D) Wardt
(B) weqe @ast-11 ST 7eTaem it asi ardha
(C) 7eE @eli-1 &t T 0 W?{é‘rwmﬁmﬁiﬁﬁmﬁaw
\@)W@mﬁ—llaﬁﬁﬁﬁm fore &7
o (A) warqa (B) HerET@igdl
142 The most stable oxidation states of the coinage © e (D) Gkl
metals are 149 is a joint project between NASA and

a7 g B A9d Wl SRS e ¥
(A) Cu*2 Ag™Z Au™

ISRO to launch a dual frequency synthetic aperture
radar satellite.

NB) Cutl Ag
Cu?, Ag™, Au’ (A) GSAT-11 (B) GSAT-12
;g) é‘{é Afo; A (C) RISAT-1A (D) NISAR
) LU Agn AU 9 36 6 Hed ael agi Wiiee 2
, TSR IqUE AT A % Y T g TS €
143 Ch th t synonym of the following word:
Cog((:)lssee € correct synonym (o) g (A) iﬁ'é?—]l | (B) e ‘
(A) long (B) certain (C) ememsgETd-1T (D) far
(C) reduce (D) brief RISaT
150 Which of the following viruses are spread by fruit
bats?

Which one of the following is not a condensation
polymer?

(A) Neoprene (B) Glyptal

(C) Dacron (D) Melamine

feretfifia & & @i da agedh T8

(A) frani (B) frered

(€) <hH (D) HeiE

D78986 1 )

144

(A) Hepatitis B virus (B) HIV

(C) NIPAH virus (D) Dengue virus
frefofaa # & &9 & fawm) wa TR &
e & 7

(A) ¥¥erdfes d e (B) e ot A
Q) Frure amaTE (D) 37 I’RE o
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